EARAZROREIERT — 2 N—XBISY —F 20145108268 (H) 15[@11A&E2H

mjL'J‘I‘I°/“1 —7Ch (hRBFE) H#S5R2KO0OP (xwlw | mEmml - |5 ) s
[A&4] 1 7% :3,000,000  ~ 23 :900,000 M . 33 :300,000 .~ 4 3#:180,000 @ . 5 7 :120,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. [iim}2 :56. 20— . — REM (&8
ilaliol Tverr784 # 2 | W0 nses | 2EEs 0.8 e
L:G7—3IUT> BiRyhIFLTAT B R
NS S N REE_ :56. BaRss . = THERE (E8)
N . NEEZEEL RS "2 2% ey | TR TS s
R:HLTAN—K B:aA9HRIL 5% &g
N NN AlMES : —6-5- - HETE (&H)
3 R o2 2 1.(516>.5 6-6-5-4 | 39.2 1 (5+268) Emj—c% "
Ry —3UTL BILFUS NP RE
N RHEET : — 44— — THiERE (EE)
al5ls | 81 LATIr—4 i 2 oE (12.517/.20) 3-4-4-5 | 40.0 4 (f?) Eﬁﬁ%—
L:TVHA XTI R BT ANy Y7 P95l B8R
. s EHIEA (57 9| - ShBEA (£8)
5 NCEIZY, o2 e 1(537)6 5-5-6-6 | 39.9 5 :1+837) %/El%m i
L:TA—T4FAF =YV BELX-T5v7 RESS
s = BEEIFE :57. -1-1- . — BEEXE (£8)
6l1]1|nses k= Rk A e R R I R Bl -l
L:T7RAXLTEL BT —F XTI~ 1% BT
e e HEPEA : -10-10~ - REM (&H)
7lglit| e ra- o2 o 1.(558>.6 10-10-10-8 | 39.1 8 <4+557) §IIEW§ ®
R—ZYL K BT hI— SEH EE
S BER— : -9-9- — THiERE (£8)
slzlg|Fovomy o2 e 1(/75?:53 9-9-9-7 |39.5 1 ;1_3“5) m%;
L:THAFVv—Ib B:TSLTT4>7 P95 B8R
= A R :59. -11-11- . — REM (&£8)
ol7|g| V55— o2 o= 1(559)5 1-11-11-11 39.5 10 :1_565) ;‘?Ein— "
AL T74T7 B EA4va2-> chARHiS
_ . T 59, g8 8| — ABBK (f£5)
10 2 JRLS=—> o2 b ! 1(529)9 8-8-8-9 | 40.8 6 (4_570) el "
R:ZTT—MLRIT—h B:F=—2TFILTE2—IL 1y HRF—T I
B o2 | EPH 2:00.7 7-7-7-10 | 42.0| — 9 432 | ALAIRRAEL (1)
11§ 6| P/~ 54.0 @ Ga | T SH—2957
R:772VI7 BRI/ FrE— hEE A
® I —F—@EBIERL
13=7r= 1,10,5,4,3,7,6,2,8,11,9
2= = 1,10,4,5,3,7,6,2,8,11,9
Jol=5r= 1,10,4,5,7,3,6,2,8,11,9
43—F— 1,4,10,7,5,3,8,11,2,6,9
[ N3
B OB 10 890H 714K 4-10 1,030H % E 4-8 7,040M RPEL ) 4-7-10 2,580
8 B 10 170 7-10 300 B & 4-10 7,500M K31 10-4-7 27,060
4 410M 4-7 570M | | & & 10-4 9,940
7 130M4

ABICOVWTRDTEEERROODE. TR LIV,



